I

TECNONUTONV 3

ASESORAMIENTO Y SERVICI

4DWHG16E B & i A F

ADWHG16 SERIES SOLENOID
PILOT OPERATED
DIRECTIONAL VALVES

ADWHG 162! BB iR 7)) 2 FA B MR R SIEHRERIL  4DWHG16 series are solenoid pilot operated spool type valves . This

EHIJHAHE Internally drained B5% (DC)-16

333 (AC)-10
Bt (DC)-16

)

EiE, B FEHRRE BRI S E, series are used to control the start ,stop and direction of flow. C-_I;
(@)

=z

‘oo . (@)

C FEARSE Technical data 3
S

i@1Z Size 16 =)

—

& LEES] P A B(MPa) Max operating pressure P.A.B(MPa) 35 8
= H5H9MEE Externally drained 25 2

TO(MPa )T Port (MPa) 35 (AC)-10 i_’

D

(V2]

YH(MPa)Y Port (MPa) $EHI;R5ME Externally drained

B/MEHIES (MPa) Min. Pilot pressure(MPa) 0.45-1.3
AME(L/min) Max. flow rate(L/min) 300
F8(T5 )Weight(KGS) 95

BE () RmaE

RS i hosphati rf
Valve body (Material) Surfa cetreatment i Epe it AL fcasting bhosphatngislivacs

NAS1638 94k F11S0440620/18/154%

KRS SE/Oi Icleanliness
RERE NAS1638 class 9 and ISO4406 class 20/18/15

HIDRAULICA - NEUMATICA - ELECTRONICA www.tecnoautomat.com
(© 1135852811 @ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lanus Bs.As.




2202 angojeie)

TECNOAUTONA
ASESORAMIENTO Y SERVICI
O HitdnLE: 4ADWHG16.. B (FE1ER HLP46 , J§=40°C5°CEYilIfR
Characteristic curves: Type4DWHG16... (measured with HLP46, Voil=40°C+5°C)

&)-qv’ﬁﬁﬁﬂﬂéﬂ% Characteristic curves
8 6

: / 7V 7
Nz
%)
VARS8,
) N A "0

N

\\
\\

N\
N\

(R differential
N
\

(7] > =
oy P _
MS o B // ——
0
0 50 100 150 200 250 300
W& Flowin (LUmin) _,
px = — n 2 = '~ ==>POOT POSIIoN
[ AR DT i MRS DR E
P-A|PB | AT | BT | P-T P-A|PB | AT | BT | PT
ED)Y 1 1 1 3 - MW 2 2 4 3 -
F 2 2 3 3 - 2 2 4 - -
G,T 5 1 3 7 6 1 1 4 7 -
H,C,Q,V,Z 2 2 3 3 - 4 4 4 - 8
J.K, L 1 1 3 3 -
OMBERFS Spool symbols
WHG A B WHG AL B
_,_ o 0 o [o Pe- e
P T P T

Y
=]
=L
A

Y
=l
=L
=]

A

P T PpT
DWHG A, B A, B

N

v

- |

=

lu:o
=

o

4oL
<
N
V]
S

A B
Al o [ob e
PT
A B A B
ceeHees JOF e/

XHEED X Gk, o
pMEEENRDATER "’“

o EEENI(E T
S OEEEX OEX - XNEE X
g . THDEAX  [EIX X X
XHHET  XHO TS RE)E
B el [l o (ONIEET) (] IS = RE)
IO KO - NGB XEH - XNEE XET
XFAEC X » X X

XEHE O -

HIDRAULICA - NEUMATICA - ELECTRONICA | www.tecnoautomat.com
(© 1135852811 <@~ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lanus Bs.As.




TECNONUTO

ASESORAMIENTO Y SERVICI

C EHRIARHSIMERAHS SMERYIRER Pilot fluid supply

Vﬂﬁi

Internal pilot i Cn;ver
z /A|'III/I,I s
mI 1

A3t External pilot

DWHG16 BUHHHEME
DWHG16 explanation partial drawing

4DWHG16 & 4DWHG16

1. NtSIMEEEE: IFTFAZ, J55430/)\3LE0 (NInternal pilot and external pilot:

MR IME, 1555 3 B9/ LERIMER Removing the sideward cover, installing the pin to
i o o . allow "P" port with open position is internal pilot, to

il\z\éﬁgﬁ;ﬁg;ﬁf ;?‘Finzﬂegéiz%}jﬁ?’ = _convert the pin_into "P" port with plugged position

is external drain. (2) Internal drain and external
drain: Removing the bolt 1 and installing M6 screw
2 is external drain, unscrew the M6 screw 2 is
internal

drain.

HIDRAULICA - NEUMATICA - ELECTRONICA www.tecnoautomat.com
(O 1135852811 <@ 114241 1370. 1142254987 Direccién Rio de Janeiro 2740 Lanus Bs.As.




2202 angojeie)

) 4
TECNOAUTONV

ASESORAMIENTO Y SERVICI

(C 4ADWHG169MY R~ 4DWHG16 Overall D imensions

217

— ] = —
— = S - — =
@l s —
o —
A B y
211.8
1016
18.2] 34.1 ~
N0 —— S\
SANZAS NN A\
= ——
= Ubh gy s I I - (.
RS =
— T
N A RN B T/
N\ e &/
| 4-011%Pylone/ 2-06. 6% Pylome -
i E E LR ET Valve'ss ets crew

4 NM10X60GB/T 70.1-12.94% 17 EH%EMa=75Nm
21M6X60GB/T 70.1-12.94% T EHI%EMa=15.5Nm

P.TABOOBE: ®26X24
X.Y.L OO0 &E: o 15X1.9

HIDRAULICA - NEUMATICA - ELECTRONICA
(O 1135852811 <@ 114241 1370. 1142254987

4 of M10x60 GB/T70.1-12.9 Tightening torque Ma=75Nm.
2 of M6x60 GB/T70.1-12.9 Tightening torque Ma=15.5Nm.
O-ring for P.T.A.B Port: ¢26x2.4

O-ring for X.Y.L Port: ¢15x1.9

www.techoautomat.com
Direccién Rio de Janeiro 2740 Lanus Bs.As.



4
TECNOAUTONV)

ASESORAMIENTO Y SERVICIQ

O EIRZZERT Installation dimensions

4DWHG16
_4-M10/19
)
Y
N~
© SN RN
) o | @
5 |® b
™
<
~ Ne)
-

ADWHG(6| E |60,/ * pC24| N | * #* 5L * | * [ = |* |
B3 05t BE
For further detail_§
T = TR
BiE 16 V= g5
i Nocod e=NBRse als
Size 16 V=Fw sea|§
BRNEERT S THRIE = A TE IR

P4.5= HTIER; FFBES] 0.45MPa
No code=Without preload valve
P4.5=With preload valve

cracking pressure is 0.45MPa

See the function symbol
of spool valve

= T
Series 60=Size 16-32
F—RESA

O= SR EIHE

R =

TARIE = At AIIEE 25
( EBHgRmEE P QTR )

OF= RIILEMHE, HEMR
No code=With spring return

O=Without spring return
OF=Without spring return,with detent
B E Voltage

DC12,DC24 ;ACII0;AC220
N= BERFER TR

N=With concealed manual override

FT=IMIEIMER E=AHtIM Y
ET=RHRHE T=IMERHE

No code=Externally pilot, externally drained

E=Internally pilot,externally drained
ET=Internally pilot internally drained
T=Externally pilot, internally drained

B0.8=T377#L1£0.8B 10=T37FL1F1.0
B12=T3/FL1F1.2B 15=T R FL#F1.5
No coad if without plug-in throttleer

B0.8=Throttle orifice size 0.8
B10=Throttle orifice size 1.0
B12=Throttle orifice size 1.2
B15=Throttle orifice size 1.5

Z5L=m 4T K HiEk

ER= BEEEX

Z5L= Large quadrate plug with light
ER=Deutsch Connector

X = =BFTE

S=HFTEEOTRS 2=FATE HOTR

No code=Without pilot adjustment
S=With meter-in pilot adjustment
S2=With meter-out pilot adjustment

HIDRAULICA - NEUMATICA - ELECTRONICA
(O 1135852811 <@ 114241 1370. 1142254987

www.techoautomat.com
Direccién Rio de Janeiro 2740 Lanus Bs.As.




